Elementary Algebra
Chapter 2 Test Review Key

1. Solve: 7(3x—-1)=-2(x—4)

T7Bx—1)=-2(x—4)
T7Bx)+7(-1) =-2(x)—-2(-4)
2Ix—=7=-2x+8
21x+2x=8+7

23x =15

23x 15

23 23

)

X =
23

2. Solve: —4(8x-3)-5=712x-1)

-4@8x-3)-5=712x-1)
—4@8x)—4(-3)-5=T72x)+7(-1)
-32x+12-5=14x-7
-32x+7=14x-7
-32x—-14x=-7-17

—46x=-14

—46x 14

—46  —46
7

xX=—
23
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3. Solve: %x—lz 2x+5

éx—1=2x+5
4

4(% xj +4(=1) = 4(2x) + 4(5)

3x—4=8x+20

3x-8x=20+4

-5x=24

-5x 24

-5 -5
=24

X —_—

5

4. Solve: lx—lzlx—2+x
9 2

lx—lzlx—2+x
2

9
18(% xj +18(-1) = 18(% xj +18(-2) +18(x)

2x-18=9x-36+18x
2x-18=27x-36
2x-27x=-36+18

—25x=-18
—25x  -18
—25 -25
_18

X =
25
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5. Solve:

x+6

—-2x=-3

4( x Z 6) +4(=2x) = 4(=3)

x+6-8x=-12
-Tx+6=-12
-Tx=-12-6
—T7x=-18
-7x —18
-7 -7

18

X=—

7

-2 1 3
6. Solve: —x+—=—
5 3 2

-2 1

3
x —_—
5 3 2

30(‘_2 xj v 30@ _ 30@
5 3 2
6(=2x) +10 = 15(3)
—12x+10=45
~12x=45-10
—12x =35
~12x 35

12 -12

=35

T 12

7. Solve the following for a: ab—c—d =efg

ab—c—d =efg
ab=efg+c+d
ab _efg+c+d
b b
a:efg +bc+d
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8. Solve: 5x—2>83

5x—2>83
S5x>83+2
5x>85
5x 85
_>_
5 5
x>17

9. Solve: 4(x—2)<53Bx-1)

4(x—=2)<5@Bx-1
4(x)+4(=2) £503x)+5(-1)
4x—-8<15x-5
4x—-15x<-5+8

—-11x<3

—11x S 3

-11  -11

xX=—
-11

10. Solve: %x—x > 8x+l

3 1
—x—x>8x+—
4 3

12[% xj +12(=x) > 12(8x) + 12(%)

33x)—12x >96x+4
9x—12x>96x+4
—-3x>96x+4
—-3x—-96x>4

-99x >4

-99x 4

~99 -99

X< —

99




